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Question.No.l is compulsory. : ', 'l''

Attempt any three questions from remaining five:o" estiohs.
Assume suitable data wherever necessaqy.

Attempt the following:

a. Determine the convolution of following signalil

r(t) : e-atu(t)

h(t)-u(t-2) ''':,i'..,'',, -','.,':
b. Determine the Fourier series coef.fiiients.of the:iignal,

x(n) = {1, L,0, 0}. l

c. State any two properties of,Fouri.i. tr*"rforr.l ''

d. Determine Laplace transform anO stercfr ROC ofjhe signal,

x(t)=(e-zt-e-s\u(t). " i
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.,.Defi4e signal Explain classification of signals.
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. b. . DeterFiipe.Fo.qrigrliansforrn and sketch the magnitude and phase response of

.:i.,: , ' ,rtn) =,t-'2,,,-t;9,1 
z1,l'ur. o) = 0,tI,tI,Lff,+rrad/sec.
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x(t) = (t + tz),-t S t < Tt.
:

Determine the unit impulse response h (t) of the system describbd"o-y the following dif,ferentiai . "
' ' ":;'t':-''tt 

'-'"

equation: -

ryP * zry + zy(t) : ry + ?x(t).useiaplacu,r;i;**".', 
l" I .,'t " f '"''

'-- "' 
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Determine the response of the system giVen tn 4.(b).tl",r(t) =' 4e;1"u1t1',' -.: ,--.: ":: . 
* 
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Compute the linear convolution oifollowing signals using analytical method: 
,

'x(n) = {1,3,5,7,L}

h(n) = t2,!,2,L,9j
Determine the response;of the system described by the following:difference equation:

y(n) =Zyt"- D'.l'1("- 2) * r1n; tothe input x(n) = 6'(n) -;a1n - r1'

:

Determine, wheiherafolfgwing systems are memory-less, stable;:causal, linear and time-invariant:
'

....-. ...a,. .:, "..

2" Y(n) = x(n/2)

Deteniiine,ihe'inveise a-tranlform using paltia! rfracli on method :
, r l : :-, :'.: . .

1vr-:\.\\Lr - L - L,Sz-t * o.5z-2

s79.61

7sE3C9 1 507ACC2056BA8C0 1 90D70863 1


